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Questions

Percent is an English
word which means

20% of 600 is

45x1/2% in its lowest
formis expressed as

1/3 as a percentage is
expressed as

If the earth's surface is
71 % of water, then
what is the percentage
of land

0.065 expressed as
percentage

If 4/5 to he students in
a school have been
away for a holiday, how
many student many
student in every
hundred have been on
holiday?

There are 2 red balls
out of 6 balls, the
fraction of the red balls
is

The ratio 8:12 in its
simplest form is

The equality of two
ratios is called

The first and fourth
termsofa:b::c:dare
called

The price of 20 pens is
Rs ,2000. What will be
the price of 40 pens
such pens?

The relationship
between two ratios in
which

increase/decrease in
on quantity causes a
proportional?

The relationship
between two or more
proportion is known as
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out of 10
out of 100
out of 60
out of 1000

12
120
20
200

91/200
200/91
91/100
100/91

33x1/3%
33x1/2%
33x3/12%
33x2/13%

29%
30%
39%
40%

65%
6.5%
65
0.65%

. <sub>40</sub>

60
80
100

2/6
6/2
2/3
1/6
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proportion
percent
extremes
means

means
extremes

. proportion

ratio

R.s 40

R.s 400
R.s 4,000
R.s 40,000

. proportion&nbsp;
. direct proportion&nbsp;

. inverse proportion
. ratio&nbsp;

. compound proportion
. direct proportion

. inverse proportion

D.

simple proportion
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inaratioa:b,'a"is
called

The "transaction or
repayment"which
sahib-e-Nisab Muslims
pay once in a year at
the given rate to the
poor and the needy is
called:

The Sahib-e-Nisab
muslim is liable to pay
Zakat who owns and
keeps in his/her
possession at least
gold

Zakat is deducted at a
rate of

The Sahib-e-Nisab
Muslim is liable to pay
Zakat who owns and
keeps

in his/her possession
at least silver:

On a crop which is
irrigated by natural
resources, ushr is paid
a arate of

On a crop which is
irrigated by artificial
resources, ushr is paid
at a rate of

What is share of widow
in the presence of a
child or agnatic grand-
child?

How much share a
husband inherits out of
his wife's property in
case h is wife dies?

If there is only a single
daughter then her
share is

Which of the following
is not included in
exposed and
unexposed wealth?

Shopkeepers is called

The price are of an
article given in the list
provided by the

manufacturer to the
trader is called:

An association of two
or more persons to
carry on a business for
the purpose of making
profit is called

The ratio of profit three
partners A,B, and C is
10:7:5, the sum of their
Ratio is

If shopkeeper sells a
TV forRs, 13,125 at a

nrafit nf RO Tal miich

A
B.
C.
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consequent
antecedent
extreme

Ushr
Nisab

. inheritance

6.5 tola

8 tola
8.5 tola

3.5%
4.5%
5.5%

55.5 tola&nbsp;
60.5 tola&nbsp;
62.5 tola&nbsp;

2.5%
5%

20%
10%
2.5%
25%
1/4
1/3
172

13
1/4
1/5

213
1/4

1/8

. agricultural goods
. gold&nbsp;
. silver&nbsp;

. Selling Price (SP)
. List price(LP)
. cash Price(CP)

. discount

. marked price
. Discount % age

. business
. trading

. company

15
20

25

. Rs.600

Re RRN
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profit did he earn?

The major types of
accounts which can be
maintained with banks
to keep the deposits or
surplus fund are.

An attractive source of
fund for long term
lending and investment
purpose is:

In Pakistan the current
account can be
opened with minimum
amount of

For withdrawal of large
amount from saving
account, a prior notice
is required from

The person who
draws,s the bill of
exchange is called

The person in whose
favour the bill of
exchange is drawn is
called

The person to whom
the payment is made

An instrument for
payment issued by a
bank on the request of
its customer is calle

A machine installed by
the bank to dispense
cash to customer is
called

an order to pay money
drawn by one branch
of a bank upon
another branch of the
same bank for an
amount of money
payable to or order of
payee or on demand is
called

The percentage of
profit or markup
charged is

Every year profit on
profit along with
principal amount is
called:

If Rs.1000 is deposited
in saving account @
10% p.a profit how
much profit would a
person get after one
year?

if borrows Rs 100,000
for 3 year at rate of
16% p.a. What is mark
up to pay?

The person or entity
whose insurance is
being done is called

Money that is paid to
the state charged as a
proportion of income
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. Rs.700

. saving account
. current account
. both (B) and (C)

Rs.100 to Rs.500

. Rs.1000 to 5000

. Both (b) and (c)

1to 7 days

. 15 to 20 days
. without any notice

drawee

payee
lessee

drawer
payee

. lessee

. drawee

lessee

. insured

cheque

. bank draft
. bill of exchange

. computer
. scanner

. card reader

. pay order
. bank

. none of these

. principal

time

. interest

. simple profit
. permium
. markup

. Rs.10,000
. Rs. 11,000
. Rs 100,000

Rs.480
Rs.4,800

. Rs.50,000
. insurer

. drawer
. lessee

. excise duty

mrAanArhg fAav
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the cost of some good
is called

The taxes which the
government charges
directly from the
people on their income
property and profit in
the form of income tax
property tax etc, is
called

Taxincludes general
sales tax (GST) and
value added taxis
called

Tax in addition to the
price of the article is
called

In Pakistan sale tax is
imposed on goods
bought and services
rendered.

A computer price

is Rs.34,800 inclusive
of 16% sales tax. What
is original price of
compute?

If the income return is
filed on 30th june 2010
the fiscal year
considered is 2009 -
2010 tax year is

The tax charged on the
owner of land house
flats or building is
called

First 100 unit to cost of
next 200 units @ per
units

if usage of gas 2 to 3
Hm3 in MMBtu per Rs

Tex of the form of

duties motor vehicle
taxes are called

The tax in addition to
the price of the article
is & nbsp

The form of a tax which
the buyer pays on a
manufactured item at
the time of purchase is
called

The tax charged on all
the taxable income is
called

How much cubic feet
gas a unit of gas metre
has?

A sequence is an
arrangement of
numbers written in
define order according
to

In the sequence of
1,3,5,7,9,... what is

AAAAA H ~AAt thA AAAAA

. Prupelly lax
. income tax

Oc

A. tax

. property tax
. income tax

OO0

. direct tax&nbsp
. property tax&nbsp
. income tax&nbsp

o0ow

. income tax
. excise duty
. direct tax

12%
14%

oDOW> UOW

. 18%

. Rs.34,000
. Rs.38,000
. Rs.40,000

o0Ow

A. 2008

2010
2011

o0

. direct tax
. income tax
. property tax

Rs.2.65

Rs.6.15
Rs.7.41

Rs.80.65
Rs.84.45
. Rs.153.73

Ow» DOUP VoW
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. income tax

. direct tax
. property tax

Ow

>

tax

. income tax
. excise duty

oo

. tax
. income tax
. sale tax

o0Ow

. sale tax
. direct tax
. excise duty

Ow>

. 10 cubic feet
. 50 cubic feet

w >

D. 500 cubic feet

A. With specific routine

C. with addition with multiplication
D

. with addition

A1

~ 2
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at get the next term

In the sequence
2,4,6,8,... what is
added to get the next
number

in the sequence
1,4,9,16,25,....each
termis a sequence of

The number in a
sequence are called its

What is present in a
sequence that it is
called finite sequence?

2,4,6,8,...20is a
sequence

1,4,7,1,0...isa
sequence

Abbreviation of
arithmetic progress
(sequence) is

Common difference is
denoted by

If a,Abis an A.P, then
'A' is said to be

Arithmetic mean
between -3,7 is

A.M between 215 an
65 is

If AM between 5 and b
is 10 then value of b is

If a,G,b is geometric
progress is, then G is
called

A collection of well
defined object is called

Set are usually
denoted by capital

The set of natural
numbers is denoted by
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whole number&nbsp

. integer number&nbsp
. odd number&nbsp

. symbol&nbsp

. arrangement&nbsp
. amount&nbsp

. order&nbsp;
. second term&nbsp;
. first term&nbsp;

. infinite & nbsp
. specific & nbsp
. none-specific & nbsp

finite

. specific
. ground sequence

AS

AM

. both (a) and (b)

b
a
c

mediam

. geometric mean

. sum of ratio

.35

25

C. 65

oo

oo0ow

UoOw» U0Owp» UOw

oow

20

10
25

. arithmetic mean
. arithmetic sequence
. median

. function&nbsp
. element&nbsp
. object&nbsp

. number&nbsp

. object&nbsp
. function&nbsp

w
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The set of integer is
denoted by

The set of prime
numbers is denoted by

The set consist of all
elements of set A and
set B is called

The union of two sets
A and B is denoted by

A set consist of
common elements of
set A and B is called:

A set consist of
common elements of
sets A and B is written
as

The symbol of Uis
used for set

Venn diagram was first
used by

If A x B then from A to
B is called

Set of ordered pair of a
binary relation is called
its

A set of two elements,
listed in a specific
order is called

First elements of
ordered pairs Is called:

The coordinates of
origin are

In cartesian plane point
'O' is called

In Cartesian plane the
horizontal line XOX IS

In cartesian plane,
vertically line is called

1 miles =?

OOwW» UOW

TOW» UOWP "UOwWP UOWP UOWP U0w

UOow» "UOowWP U0w

w
o}

{-1,-2,0,2,4,}
{-4.-2.-1}
{0,1,357,.}
w
z

O

. intersection of sets

. universal set&nbsp
. complement of set&nbsp

ACB
AESB

ANB

. union of set&nbsp
. universal set&nbsp

complement of set&nbsp

ACB
AESB
AUB

. union of set&nbsp
. complement set&nbsp
. intersection set

David venn

. Jhoj Napeir
. Henry Berg

. function&nbsp
. range&nbsp
. domain&nbsp

range

. function

subset

. unordered pairs

. cartesian
. rectangular

. column&nbsp;

. point&nbsp;
. origin&nbsp;

(1,0)
0.1

(1.1

. column&nbsp

row

. axis&nbsp

.y - axis&nbsp
. origin&nbsp
. co-ordinate axis&nbsp

X - axis

point
origin

1.5 km,
6.1 km,
5.1 km
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The formula used to
convert Fahrenheit
temperature (°F) into
celsius temperature
(°C) is:

The formula used to
convert Celsius
temperature (°C)into
Fahrenheit
temperature (°F) is"

The number of time
each value appears in
the date is called

If a group of students
get marks from 20% to
10% their frequency
will be

The table which gives
the frequency of each
score is called

A running total of class
frequency is called

According of grouped
data formula of
arithmetic mean

Xis called

V3 is considered a /an

V3 is called:

InV3, 3 is called

In 45,4 is called

1/bVak is expressed in
exponential form as

As per Law of sum of
powers, we write am x
an as

X3 xY4 xX-2 xY-2 we
can simplify as

We can write 1/10000
in scientific notation as

0.0000281 can write in
scientific notation

oo

°F = (9/5X°c) +33

. °F = 9/5(°F - 32)
. °F = 9/5(°F + 32)

A. °C = 9/5(°F -32)
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°C = 5/9(°C +32)
.°C = 5/9(°F + 32)

. polygon&nbsp

. histogram&nbsp
. frequency table&nbsp

10
15
20

. logarithmic table&nbsp
. grouped table&nbsp

. ungrouped table

. histogram&nbsp

. data
. call interval&nbsp

. x=3Yf/Sn

X =YX
X=3yxyn

mode
. median
. group data

. rational number

complex number
. integer

. radicand

. rational number
. integer

radical

integer
. natural number

. exponent&nbsp

. integer&nbsp
. radical&nbsp

a-1/b
a-b/k
a-1/k
am-n

al/m-1/n
.a1/m+1/n

xy2
3y

2y
1x104

1x101/4
.1x10-1/4

. 28.1x10-5

. 0.00281 x 10-3&nbsp
.0.281 x10-5
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The mantissa is always
taken as

The logarithm calculate
to the base 10" is
called

W2 =2

According to law of
power of power (x3)4
we can simplify.

In the logarithm of
number the decimal
part is called

V2+v3 is not radical,
because 2 +\3 is

A set of two elements,
listed in a specific
order is called

First elements ordered
pairs is calleds

The co-ordinates of
origin are

In cartesian plane point
'O' is called

In cartesian plane, the
horizontal line XOX is
called

1.In cartesian plane,
vertically line is called

1 miles =?

The formula used to
convert Fahrenheit
temperature (°F) into
Celsius temperature
(°C) is:

The formula used to
convert Celsius
temperature (°C) into
Fahrenheit
temperature (°F) is

The number of times
each value appears in
the data is called

If a group of 5 students
get marks from 20% to
30% their frequency
will be

>
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. negative (-)

+

#

. mantissa&nbsp

. characteristic&nbsp
. natural number&nbsp

2<sup>2</sup>
2

. 2<sup>1/2</sup>

x3
x4
x4+3

mantissa

. rational number
. real part

. radical
. rational
. integer

. unorder pairs

. cartesian
. rectangular

column

point

. origin

(1,0)
0.1)

(1.1

column
row

axis

y - axis
origin

. co-ordinate axis

X - axis
point
origin
1.5km
6.
1

1 km
.7 km

.°F = (9/5 xX°C) +33

.°F = 9/5 (°F - 32)
.°F = 9/5 (°F - 32)

A.°C=9/5 (°F - 32)

ow
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°C =9/5 (°C + 32)

.°C=9/5 (°F +32)

. polygon

. histogram
. frequency table

10
15
20



The table which gives
132 the frequency of each
score is called:

A running total of class
133 )
frequency is called

134 Xis called

According to grouped
135 data formula of
arithmetic mean:

136 Question Image

A. logarithmic table
B. grouped table
C. ungrouped table

A. histogram

. data
. class interval

o0

. Mode
. Median
. Group data

oo0ow

B. <span style="color: rgb(34, 34, 34); font-family: &quot;Times New Roman&quot;; font-size: 18px; background-
color: rgb(255, 255, 248); text-decoration-line: overline;">X=</span><img
src="https://wikimedia.org/api/rest_v1/media/math/render/svg/f1d4e06539576633987e902f402ed46728d573b6"
class="mwe-math-fallback-image-inline" aria-hidden="true" alt="\sum " style="border: Opx; vertical-align: -
1.338ex; display: inline-block; color: rgb(0, 0, 0); font-family: sans-serif; text-align: center; width: 3.365ex; height:
3.843ex;">fx<hr id="null"> <img
src="https://wikimedia.org/api/rest_v1/media/math/render/svg/f1d4e06539576633987e902f402ed46728d573b6"
class="mwe-math-fallback-image-inline" aria-hidden="true" alt="\sum " style="border: Opx; vertical-align: -
1.338ex; display: inline-block; color: rgb(0, 0, 0); font-family: sans-serif; text-align: center; width: 3.365ex; height:
3.843ex;">n

C. <span style="color: rgb(34, 34, 34); font-family: &quot;Times New Roman&quot;; font-size: 18px; background-
color: rgb(255, 255, 248); text-decoration-line: overline;">X=</span><img
src="https://wikimedia.org/api/rest_v1/media/math/render/svg/f1d4e06539576633987e902f402ed46728d573b6"
class="mwe-math-fallback-image-inline" aria-hidden="true" alt="\sum " style="border: Opx; vertical-align: -
1.338ex; display: inline-block; color: rgb(0, 0, 0); font-family: sans-serif; text-align: center; width: 3.365ex; height:
3.843ex;">fx<hr id="null"> <img
src="https://wikimedia.org/api/rest_v1/media/math/render/svg/f1d4e06539576633987e902f402ed46728d573b6"
class="mwe-math-fallback-image-inline" aria-hidden="true" alt="\sum " style="border: Opx; vertical-align: -
1.338ex; display: inline-block; color: rgb(0, 0, 0); font-family: sans-serif; text-align: center; width: 3.365ex; height:
3.843ex;">x

D. <span style="color: rgb(34, 34, 34); font-family: &quot;Times New Roman&quot;; font-size: 18px; background-
color: rgb(255, 255, 248); text-decoration-line: overline;">X=</span><img
src="https://wikimedia.org/api/rest_v1/media/math/render/svg/f1d4e06539576633987e902f402ed46728d573b6"
class="mwe-math-fallback-image-inline" aria-hidden="true" alt="\sum " style="border: Opx; vertical-align: -
1.338ex; display: inline-block; color: rgb(0, 0, 0); font-family: sans-serif; text-align: center; width: 3.365ex; height:
3.843ex;">x<hr id="null"> n

A. A rational number

C. A complex number
D. An integer



